
Simplifying a Power of a Power Answers
Bronze
Write each of the following as a single power of 2.

a.	 (23)2

23 × 2�

26�

b.	 (24)3

24 × 3�

212�

c.	 (26)5

26 × 5�

230�

d.	 (210)2

210 × 2�

220�

e.	 (22)4

22 × 4�

28�

f.	 (210)8

210 × 8�

280�

g.	 (25)7

25 × 7�

235�

h.	 (22)11

22 × 11�

222�

i.	 (212)3

212 × 3�

236�

j.	 (27)4

27 × 4�

228�
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Silver
Write each of the following as a single power of x.

a.	 (x3)2

x3 × 2�

x6�

b.	 (x5)8

x5 × 8�

x40�

c.	 (x2)5

x2 × 5�

x10�

d.	 (x10)12

x10 × 12�

x120�

e.	 (x7)6

x7 × 6�

x42�

f.	 (x4)11

x4 × 11�

x44�

g.	 (x7)8

x7 × 8�

x56�

h.	 (x2)13

x2 × 13�

x26�
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Gold
Simplify each of the following. 

a.	 (6x2)2

62 = 36�

36x2 × 2�

36x4�

b.	 (3y3)3

33 = 27�

27y3 × 3�

27y9�

c.	 (4m2)2

42 = 16�

16m2 × 2�

16m4�

d.	 (5z2)2

52 = 25�

25z2 × 2�

25z4�

e.	 (2c2)5

25 = 32�

32c2 × 5�

32c10�

f.	 (7a4)2

72 = 49�

49a4 × 2�

49a8�

g.	 (2m3)4

24 = 16�

16m3 × 4�

16m12�

h.	 (7x2)3

73 = 343�

343x2 × 3�

343x6�

i.	 (5d3)3

53 = 125�

125d3 × 3�

125d9�

j.	 (2v4)6

26 = 64�

64v4 × 6�

64v24�
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Challenge

Simplify (12x2)2

(12)2 = 14�

1
4x2 × 2�

1
4x4�
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